
Review
icñx - wlñst )

wave packet 4 Crit) = f¥÷p 415 ) e-

t
momentum distribution

sharp mom . dist. peaked around tI://VK.tl/2=/4Cr-vat,ojf
→ wave packet moves with if =h¥o |^
schrodingerequatrbnforfeeparticf-wanequ.fr wave packet

%

ih-d-tuciitl-zflr.tl#-oED
-

operating on 4
gioeshw → EY = ¥2m 4

Expectation value of T
-

< i> Ltl = fd'r4*(ñ,t)r4lñ①
µi

Ware function in momentum space = Fourier trafo of 4
I

Ñcñitl = fair 4Gt ) e-
ik"

for wave packet

= ✗ (E) . e-iwckT.tl/orlesunghente-:• Imports- and Ortsoperator✓

• Heisenbergshe Unschiirferelation ✓

3. Schiédingvgleichung ✓

• Zeitabhiiugige Schriidingerglg . ✓

• Zeitunabhoingige Schrodingerglg.



lmpulsoperatorundortsoperator
tk

<Ñ> in = <§ > (t) = f{¥pitk|=f¥Ep4%HtkÑlñ .tl
Ws dichte in Implsraum

Iibergang zuuortsranmm.it allg. Parseral Glg . ( bishr g=f)

f ¥÷p IT ñlojcñ) = fair ftlrlgcr)

mit j*É=ÑTñ.tl?dgYk1--h-IFCti,t1ik?r-f*CrT--4*lr-:t1
gli)=f¥¥ptIÑlñ.tl e

=E¥K÷i¥÷:÷
±ñ

(É> In ⇒<p3H=fd3rU*(nt)&D4r,-
mit Inputsoperator É
- im ortsraump-t.IEimlmpu1sraunÑ=p=h

⑤^ kennzeichnet , class 0 = Operator



Wirkung des Inputs operators auf Wellenfht.
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